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Directions (Q. Nos. 1-2); These questions are based on the information given below:
Seven persons a, b, c, d, e, f and g are sitting in a row (not necessarily in the same order)
facing North, such that :
i. only two persons sit between f and g and g sits second to the left of b;
ii. d sits third to the left of ¢ ; and
iii. e sits exactly between g and b, and b sits at the extreme right end of the row.

1. How many persons sit between f and e ?

A) One B) Two C) Three D) Four
2. Who amongst the following sits exactly in the middle of the line ?
A) a B) ¢ O e D) g
3. Find the missing character (?) in the following question.
1 2 3
11 7 5
120 45 ?
A) 15 B) 16 O 17 D) 18

4. Two statements are given in the following question, followed by two conclusions
numbered I and II. You have to take the given two statements to be true even if they
seem to be at variance from commonly known facts. Read the conclusions and then
decide which of the given conclusions logically follows from the two given
statements, disregarding known facts. Give answer.

A) if only conclusion I follows

B) if only conclusion II follows

C) if neither I nor II follows

D) if both conclusions I and II follow

Statements
I. Some teachers are followers.
II. Some followers are famous.

Conclusions
I. Some teachers are famous.
II. Some followers are teachers.
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26. In India which one of the following is the real guiding factor for the state to meet
social needs and for the establishment of new social order ?

217.

28.

29.

A) Fundamental rights
B) Preamble
C) Directive Principles of State Policy

D) Distribution of powers

Assertion (A) : Ex-post facto laws are laws which voided and punished an act that
had been lawful when done.

Reason (R) : imposing or increasing a penalty with retrospective effect for violation
of a taxing statute does not infringe Art. 20 (1)

A) A is correct R is wrong

B) A is wrong R is correct

C) A and R are correct and R correctly explains A

D) A and R are correct and R does not correctly explains A

The Supreme Court has interpreted the power of judicial review as a basic feature of
the Constitution. However, there is a schedule to the constitution, in which if a statute
is specified, it cannot be questioned in a court of law on the ground of violation of
fundamental rights. Which one of the following is that schedule ?

A) Tenth schedule
B) Eleventh schedule
C) Ninth schedule
D) Twelfth schedule

The following are enshrined in the preamble of the Constitution of India

1.

A

Equality of status and opportunity

Liberty of thought, expression, belief, faith and worship
Justice-social economic and political

Fraternity assuring the dignity of the individual

Unity and integrity of the nation

Which of the following is the correct order in which they appear in preamble?
A) 5,1,2,43
B) 3.2,1.4.5
C) 3,1,254
D) 1,2,4,3,5



